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234353 678 9:9 ;
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R2 = 4 @ r2 = 3 @ m1 = 15 @ m2 = 1 @ m3 = 24 @
m4 = 10 @ S = 114 A

234353 678 9B 9 ;
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?

R2 = 4 @ r2 = 3 @ m1 = 15 @ m2 = 7 @ m3 = 20 @
m4 = 12 @ S = 132 A

234353 678 9C 9 ;
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R2 = 4 @ r2 = 2 @ m1 = 10 @ m2 = 6 @ m3 = 30 @
m4 = 12 @ S = 86 A

234353 678 98 9 ;
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R2 = 4 @ r2 = 2 @ m1 = 13 @ m2 = 4 @ m3 = 26 @
m4 = 10 @ S = 120 A

234353 678 9D 9 ;
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R2 = 3 @ r2 = 2 @ m1 = 13 @ m2 = 1 @ m3 = 26 @
m4 = 15 @ S = 84 A

234353 678 9E 9 ;
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R2 = 3 @ r2 = 2 @ m1 = 10 @ m2 = 1 @ m3 = 20 @
m4 = 10 @ S = 31 A



234353 678 9F 9 ;

<

=

S-

>

?

R2 = 5 @ r2 = 3 @ m1 = 15 @ m2 = 2 @ m3 = 26 @
m4 = 15 @ S = 180 A

234353 678 9G 9 ;
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R2 = 3 @ r2 = 2 @ m1 = 10 @ m2 = 2 @ m3 = 24 @
m4 = 10 @ S = 34 A

234353 678 9H 9 ;
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R1 = 5 @ r1 = 3 @ R2 = 5 @ r2 = 3 @ m1 = 10 @ m2 = 15 @
m3 = 6 @ m4 = 12 @ S = 129 @ cosα = 0,8 @ β = π/3 A

234353 678 9:I 9 ;

β

=
�S

α

<>

?

R1 = 4 @ r1 = 2 @ R2 = 5 @ r2 = 3 @ m1 = 18 @ m2 = 12 @
m3 = 5 @ m4 = 12 @ S = 94 @ cosα = 0,8 @ cos β = 0,6 A

234353 678 9::9 ;
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R2 = 4 @ r2 = 3 @ m1 = 12 @ m2 = 2 @ m3 = 30 @
m4 = 10 @ S = 78 A

234353 678 9:B 9 ;
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R1 = 3 @ r1 = 2 @ R2 = 4 @ r2 = 3 @ m1 = 5 @ m2 = 10 @
m3 = 4 @ m4 = 13 @ S = 32 @ cosα = 0,8 A

234353 678 9:C 9 ;
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R1 = 4 @ r1 = 2 @ R2 = 3 @ r2 = 2 @ m1 = 10 @ m2 = 15 @
m3 = 15 @ m4 = 10 @ S = 100 @ cosα = cos β = 0,6 A

234353 678 9:8 9 ;
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R2 = 4 @ r2 = 2 @ m1 = 1 @ m2 = 15 @ m3 = 13 @
m4 = 12 @ S = 123 @ α = π/3 A



234353 678 9:D 9 ;
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R1 = 3 @ r1 = 2 @ R2 = 5 @ r2 = 3 @ m1 = 1 @ m2 = 10 @
m3 = 12 @ m4 = 15 @ S = 76 @ cosα = 0,6 A

234353 678 9:E 9 ;
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R2 = 5 @ r2 = 3 @ m1 = 3 @ m2 = 10 @ m3 = 15 @
m4 = 15 @ S = 43 A

234353 678 9:F9 ;
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R2 = 4 @ r2 = 2 @ m1 = 1 @ m2 = 12 @ m3 = 10 @
m4 = 12 @ S = 140 @ α = π/3 A

234353 678 9:G 9 ;

=
S-

α

< >

?

R1 = 3 @ r1 = 2 @ R2 = 5 @ r2 = 3 @ R3 = 5 @ r3 = 3 @
m1 = 125 @ m2 = 13 @ m3 = 12 @ m4 = 15 @ S = 165 @
α = π/3 A

234353 678 9:H 9 ;
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R2 = 4 @ r2 = 2 @ m1 = 5 @ m2 = 15 @ m3 = 1 @
m4 = 15 @ S = 144 @ cosα = 0,8 A

234353 678 9BI 9 ;
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R2 = 4 @ r2 = 3 @ m1 = 6 @ m2 = 13 @ m3 = 12 @
m4 = 10 @ S = 41 A

234353 678 9B:9 ;
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R2 = 4 @ r2 = 3 @ m1 = 16 @ m2 = 10 @ m3 = 4 @
m4 = 13 @ S = 43 @ α = β = π/3 A

234353 678 9BB 9 ;
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R1 = 3 @ r1 = 2 @ R2 = 4 @ r2 = 2 @ m1 = 10 @ m2 = 13 @
m3 = 3 @ m4 = 12 @ S = 76 @ cosα = 0,6 A



234353 678 9BC 9 ;
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R2 = 4 @ r2 = 2 @ m1 = 4 @ m2 = 13 @ m3 = 13 @
m4 = 15 @ S = 135 A

234353 678 9B8 9 ;
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R1 = 5 @ r1 = 3 @ R2 = 4 @ r2 = 2 @ m1 = 8 @ m2 = 15 @
m3 = 10 @ m4 = 15 @ S = 144 @ cosα = 0,6 A

234353 678 9BD 9 ;
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R2 = 5 @ r2 = 3 @ m1 = 5 @ m2 = 15 @ m3 = 10 @
m4 = 15 @ S = 180 @ cosα = 0,8 A

234353 678 9BE 9 ;
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R1 = 3 @ r1 = 2 @ R2 = 3 @ r2 = 2 @ R3 = 4 @ r3 = 3 @
m1 = 50 @ m2 = 13 @ m3 = 10 @ m4 = 10 @ S = 166 @
cosα = 0,6 A

234353 678 9BF9 ;
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R2 = 4 @ r2 = 2 @ m1 = 10 @ m2 = 4 @ m3 = 30 @
m4 = 12 @ S = 82 A

234353 678 9BG 9 ;
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R1 = 5 @ r1 = 3 @ R2 = 3 @ r2 = 2 @ m1 = 5 @ m2 = 12 @
m3 = 30 @ m4 = 10 @ S = 228 @ cosα = 0,8 A

234353 678 9BH 9 ;
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R2 = 4 @ r2 = 2 @ m1 = 10 @ m2 = 12 @ m3 = 30 @
m4 = 12 @ S = 98 A

234353 678 9CI 9 ;
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?

R1 = 4 @ r1 = 3 @ R2 = 5 @ r2 = 3 @ R3 = 3 @ r3 = 2 @
m1 = 7 @ m2 = 10 @ m3 = 15 @ m4 = 15 @ S = 141 @
α = π/3 A
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69e
57f
24g
27h
18i
6j
36k
2l
18dm
38dd
56de
5df
54dg
42dh
30di
10dj
48dk
21dl
20em
11ed
5ee
16ef
33eg
21eh
40ei
62ej
36ek
48el
36fm
39
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